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OECCKOE

7. Omckuit (7 MO/10,5 Oukn)

Mecto|KomaHpa 1(2(3(4(|5|6|7 8 MO |[Ouku
1|lopbKOBCKMM * 1% 1 |12%| 2 |12Kk(2Y%] 2% 11 14%
2 |KanaumHckunit 1% * (1] 2 |2%] % |2%| 2 10 12%
3|KopmunoscKkui 2 11% ¥ 112 |2%] 2% 9 12%
4| TapcKuit “ll1]2(*|2|2]|1%] 3 9 12
5[Omckuin 1% |21 * (142 2% 7 10%
6 |NcnnbKynbCcKknin V|2 1|1 |1%| * |1k 2% 6 10%
7|A3soBcKuit V|| ¥ 1% 1 (1] * 2 4 7%
8|0pecckuit Bll|ln|lo|¥n|%h|1 * 0 4

1. T'opbkosckuii (11 MO/14,5 Oukn)

Hocka|Umsa 1({2(3[|4]|5]|6]| 7 |Ouku| Ilaprun %
1|I{amko Bagum 1|=(1|=]1]|1|=1| 55 71 78,6
2|Cenbpko AHaToanii =(=]10|1[1|=]=1] 40 71 57,1
3|KpacHopyuxkas Mapus =10|1]= 5,0 71 71,4

2. Kanaunnckuii (10 MO/12,5 Oukn)

Hocka|Ums 2(3|14(5]|6 (7 |0Ouxku| HapTun %
1|IInaxuu I'ennamguit =|==[=]10]1/|0 3,0 71 42,9
2[(Mamaes JImutpwii 1|===]1]110]| 4,5 71 64,3
3 |JIanmnra BukTopus 1| = =|1]=|=1] 50 71 714

3. Kopmumnosckuii (9 MO/12,5 Oukn)

Hocka|Ums 1({2(3[|4]|5]|6]| 7 |Ouxku| Ilaprun %
1 {demun Bragumup OO0l O0]=]10=1]1 2,0 71 28,6
2|lllenemerneB EBrenuii 1{0]11]1=(0|1]1 4.5 71 64,3
3[Abommacosa Kpructuna 1(1f{1]=11|1=] 60 71 85,7

8. Tapckuii (9 MO/12,0 Oukn)

Hocka|Ums 1 34|56 | 7 [Oukn| IlapTun %
1 {bopucenko Poman Ol==]1]11[0]1 4,0 71 57,1
2 |Kucenes Anexcasmp =(1]|=11]1[1]1 6,0 71 85,7
3|I'puropreBa Hatanbs Ojo0ofO]l]O0]0(fT1]1 2,0 71 28,6

Hocka|Umsn 1/2|3|4(5|6|7|Ouxu | IHaprun| %
1|PacreraeB Anexcannp |=|1]|1|1]|1]|1]|=]| 6,0 7| 85,7
2|ITnaBcknii [TaBen O(1|11]1[=|0|=] 4,0 71 57,1
3|Mansirnaa TaTesaHa 0(0]=]0 010] 0,5 71 7,1

6. Ucunbkynsckuii (6 MO/10,5 Oukn)

Hocka|Ums 1|12|3(4|5|6|7|Ouku | Maptun| %
1|{IIapnaTos Banepuii 1{1]11]0]0({0|1] 4,0 7| 57,1
2|IlapmatoB JIMuTpwmii O[1]=]|0[=|=|1| 3,5 71 50,0
3|T'nne TaTbsiHa O(=10]1(1 =l 3,0 7| 42,9

5. Azosckuii (4 MO/7,5 Oukn)

Hocka|Umsa 1/2|3|4(5|6|7|Ouxu | IHaprun| %
1{nane Auapeit of=(ofofofo|0o| 0,5 71 7,1
2|[KoxaxmeroB Tynerexn 1101=[0[0|0|0[ 1,5 71 21,4
3|Mankesuy Oinbra 111 1|=|=[=| 5,5 7| 78,6

4. Opnecckuit (0 MO/4,0 Oukn)

Hocka|Ums 1|12|3(4|5|6|7|Ouku | Maptun| %
1|3arona Anexcanmp 11010|=[1|=|0] 3,0 7| 42,9
2|’KykoB EBrennii 0(0]10]0[0[0]0O] 0,0 71 0,0
3| Tpouenko Hatanbs Of=[=[0]{0]0]0] 1,0 71 14,3




